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Dear Viewers:

I'm providing 100% correct quiz solution. You can
visit my YouTube channel and get more information
about all other subjects’ quizzes and final year
project (CS619).




MTH101:Grand Quiz

Question # 1 of 30 ( Start time: 09:01:09 AM, 21 June 2021}

Iz the function f(x) =tan (x) continuous at
x=pi ? If not, why?

N\

f iz continuous at x=pi.

f (pi) iz not defined.
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MTH101:Grand Quiz

Question # 1 of 30 ( Start time: 09:01:09 AM, 21 June 2021 )

|z the function f(x) = tan (x) continuous at
x=pi? If not, why?

/R

f is continuous at x=pi .

f (pi) iz not defined.
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MTH101:Grand Quiz

Question # 2 of 30 { Start time: 09:01:29 AM. 21 June 20217 )

For the curve: fit) = -2t+3. the average rate of change of ()’ over the interval [-1.0] is

Select the correct option
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MTH101:Grand Quiz Quiz Start Time: 09:01 Al

Question # 3 of 30 ( Start time: 09:01:48 AM. 21 June 2021 )

Let f be defined on an interval, and z;, 2 are the points in that interval. Then f is
increasing on the interval if f(z;) < f(z2) whenever

Select the correct option

Iy = T2

(3 \\\

I — T2
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MTH101:Grand Quiz

Quiz Start Time:

Question # 4 of 30 { Start time: 09:02:05 AM. 21 June 2021 )

If g(X) = 32" then ¢'(2) willbe ......... ?

Select the correct option

-12

O
18

O
12

L]
15

O
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MTH101:Grand Quiz Quiz Start Time: 09:01 AM.

Question # 5 of 30 ( Start time: 09:02:20 AM. 21 June 2021

Let f(z)=x+5 and g(z) =z — 3 then f(g(z)) =7

Select the correct option

O 0 — 2
O 22 + 2 Z
. z? + 2 \\““'-\
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MTH101:Grand Quiz

Question # 6 of 30 ( Start time: 09:02:36 AM. 21 June 2021)

If y=2x then instantaneous rate of change of 'y wrt W at x=-2"is ..

Select the correct option
-1
O
3
O
1 S~—
O
2
L]
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MTH101:Grand Quiz

Quiz Start Time:

Question # 7 of 30 { Start time: 09:02:54 AM. 21 June 2021 )
lim [f(z)]" =

Select the comrect option

“

[lim f(z)]

tim (2] \\

n[lim f(z)]
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MTH101:Grand Quiz Quiz Start Time: 0!

Question # 8 of 30 { Start time: 09:03:09 AM. 21 June 2021)

log, MP =
Select the corect option ® Rel
O — logy M
° p log, M
® logy 37 \ >
e M log,p
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MTH101:Grand Quiz

Question # 9 of 30 ( Start time: 09:03:34 AM. 21 June 2021)

If the function f and g are continuous at ¢, then
fogis.... atc.

Select the correct option

Discontinuous

O

Continuous \,‘t
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MTH101:Grand Quiz Quiz Start Ti

Question # 10 of 30 ( Start time: 09:04:07 AM. 21 June 2021)

If
flz) =42 + 2z

. then which of the following is true about it.

Its derivative with respect to xis Bx + 2.

Maone of these.

Its derivative with respect to x is 8x.

Its derivative with respect to x is 2x.
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MTH101:Grand Quiz

—_

CQuiz Start Time: 09:01

Question # 11 of 30 { Start time: 09:04:26 AM. 21 June 2021)

If f(z) = cos(2x) then its derivative by chain ruleis ................

Select the comrect option
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sin(z).2
e (=)
—sin(2z).2
® (2z) f
— sin(z).2 \
O .
O




MTH101:Grand Quiz Quiz Start Time: 09:01

Question # 12 of 30 ( Start time: 09:04:45 AM. 21 June 2021)

If f(z) = 2° and g(z) = 2*, then thederivative of f(z) x g(z)is

Select the correct option
o) 3

Mone of these

O 6z \R
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MTH101:Grand Quiz

Quiz Start Time: 09:01 AM. 2

Question # 13 of 30 ( Start time: 09:05:06 AM. 21 June 2021)
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MTH101:Grand Quiz

Question # 14 of 30 ( Start time: 09:05:24 AM. 21 June 2021 )

If the graph of a function oscillates between 1 and -1 then its limit is

Select the correct option

: =

. Does not exist \\
\‘\
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MTH101:Grand Quiz

Question # 15 of 30 ( Start time: 09:06:05 AM. 21 June 2021

If f() = sin(x) and g{x) = sin(2x). then the derivative of f{x) + glx) is

Select the comrect option

Mone of these.
O

cos(x) + 2cos(2x).
(]

cos(x) + 2sin(x).
O

cos(x) + sin(2x).
O
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MTH101:Grand Quiz

Quiz Start Time: 09:01 AM, .

Question # 16 of 30 { Start time: 09:06:33 AM, 21 June 2021)

f(z) .
a(zx)

If f(z) = sinz and g(z) = 2%, then the derivative of

Select the cormrect option

O

Maone of these.

[z°cos(z) — 2zsin(z)]/z?

[z2 cos(z) — 2zsin(z)|/ zt
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[zcos(z) + 2zsin(z)]/z*




MTH101:Grand Quiz

Question # 17 of 30 ( Start time: 09:06:48 AM. 21 June 2021)

A horizontal line has slpoe

Select the correct option

2

O
3

O
1

O
a

L]
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MTH101:Grand Quiz

Quiz Start Time: 09:01 AM,

Question # 18 of 30 { Start time: 09:07-48 AM, 21 June 2021 )

3z +1 .
15
2—=x

The vertical asymptote of the function f(z) =

Skt e e

1 miss hogya jldi mn
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MTH101:Grand Quiz Quiz Start Time: 09:01 AM. 21 Jur

Question # 20 of 30 { Start time: 09:08:31 AM. 21 June 2021 ) Total b

The function f is said to be on (a,b), iff"(z) > 0 on that interval.

st o cort i

None of these
O
YN
Concave up
* \
Constant
O
Concave down
O

RIZ MUGHAL (SQA ENGINEER)




MTH101:Grand Quiz

Question # 21 of 30 ( Start time: 09:09:33 AM. 21 June 2021)

What is the derivative of

Tz
Select the cormrect option

212
[ ]

214*
O )

Mone of these V

O
O
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MTH101:Grand Quiz

Question # 22 of 30 { Start time: 09:09:47 AM. 21 June 2021 )

The equation of the tangent line passing through the point (-3,2) having the slope 4 is

Select the correct option
y+2=-4{x+3)
O
y+2=4(x+3)
O
.
y-2=4(x-3) \
O
y-2=4{x+3)
L]
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MTH101:Grand Quiz Quiz Start Time: 09:07 AM. :

Question # 24 of 30 ( Start time: 09:11:12 AM. 21 June 2021) 1

If f(z) =2z + 2and g(z) = * + 3z, then the derivative of f(z) + g(z) is

S e oo

2 +5x
O
N
3+ 5x
O
ul -
None of these \
O
5+ 2x
L]
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MTH101:Grand Quiz Quiz Start Time: 09:01 AM. 21 Ju

Question # 25 of 30 ( Start time: 09:11:33 AM, 21 June 2021) Total

W hat is the derivative of 2x° sin(z")?

Select the cormrect option © Reload Math Eq

O 2x° ou-s{a:ﬁ]

O - 10x? cos(z")

O 10 cu-s{a:ﬁ} \
Maone of these

L]
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MTH101:Grand Quiz Quiz Start Time: 09:(

Question # 26 of 30 { Start ime: 09:11:56 AM. 21 June 2021)

What is the derivative of 3cot (2x)

Select the comrect option

8

. —6cosec” (2z)

Mone of these

O
O Beosec® (2z) \
O —3cosec’ (2z)
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MTH101:Grand Quiz

Quiz Start Time:

Question # 27 of 30 ( Start time: 09:12:11 AM. 21 June 2021)

dy
If y=2z° + 9z, then — = )
y=z + Yz, Iz

Select the correct option

ﬂ

2+ 9
[ )
()
9
O
s T~
O
O
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MTH101:Grand Quiz

Question # 28 of 30 ( Start time: 09:12:27 AM. 21 June 2021)

The slope of tangent lines for the graph of constant function is

Select the correct option
| L
O Undefined ‘ -
O 1
o -1
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MTH101:Grand Quiz

Quiz Start Time: (

Question # 29 of 30 ( Start ime: 09:13:11 AM. 21 June 2021)

W hat is the derivative of sin(z?)?

Select the comrect option

[
]

Mone of these

O

O 2coszx

2r cos T \
L

2eosx
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MTH101:Grand Quiz Quiz Start Time: 09:01 AM. 21 Ju

Question # 30 of 30 { Start time: 09:13:27 AM, 21 June 2021) Total |

If f(z) = 2° + sin2zx + tan2z + cos3z, then derivative of f(x) will be

Select the comrect option © Reload Math Eq

. srt + 2cos(2z) + 9sec (2z) - 3sin(3z).

(™
5z + 2cos(2z) + 2sec’(2z) + 3sin(3z). 2

None of these. \ \__

0O 5x* + 2cos(2z) + sec?(2z) - 3sin(3z)
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